For this problem, I called red A, blue B, yellow C and green D. I named the first row 1, second row 2, third row 3 and fourth row 4.

I tried to work out C1 first and I found out that it had to be 8 because A is half of C. So row 1 was: 4, 8,8,16.

Then I tried to work out A2 and B2. Since A2 was half of C2, I figured out that A2 would be 3. B2 is 4 more than A1 therefore, it had to be 8. So row 2 was: 3, 7, 6, ?

Now I tried to work out A3 and C3. A3 is 6-4=2. Since C3 is 2*2= 4.So row 3 is 2, 6, 4,?.
Now I tried to work out B4 and C4. B4 is A4 +4=5. C4 is A4 *2=2.So row four is 1,5,2,7.

After a lot of thinking, I worked out that D equals b+C of the same row , so, the table now looked like this:
4, 8,8,16
3, 7,6,13
2, 6,4,10,

1,5,2,7

